ﬁ ﬁ % Don gian hoa da thuc

Tén: Ngay thang: _ Diém: _
2xz—x3+2(6x3+4x2)+7x EHod -7 -2 +x
3(3x2 + 2x)+3x—x— 9% Ox + 5x° — 5x° — 3(7)62 — 6x3)
3(2)62 + 8x3) + 8 —x— 5x° Tx+ 6x° — 3(6x — 9x) — 33
6x + 6x — 5x° + 3(4x — 2x3) 8x + 3x° — 7% — 33x+ 7x2)
3% + 8x%) = 3x — 4 + 4x° 3(2x + 6x7) — 5x — 9x° — 8x?
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P&PIE

Don gian hoa da thiic

Tén:

2% — X3 +2(6x° + 4x2)+ Tx
11 + 1022 + 7x

3(3%% + 2x) + 3x — x— 9x

O — x

327 + 8)(3)+8x—x—5x3
19x3 + 6x% + 7x

6x + 6x — 5x° + 3(dx — 2x°)
—6x> — 522 + 24x

3% + 8x°) — 3x — 4x° + 4x°
24x3 + 3¢ - 3x

Ngay thang:

XA =T - 2% +x
30 — 27 +x

9% + 5x° — 5% — 3(7%° — 6x°)
23x° — 17x°

Tx+ 6x° — 3(6x — 9x) — 3x3
3x° + 16x

8x+ 3% — Tn — 33x+ 7x2)
3x° — 28 —x

3(2x + 6x%) — 5x — 9% — 8x?
—0 4+ 1062 + x
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